Chiffres Romains (J)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

DCLXXXVIII = 688 CCCXXXI =
CCVC = CCCLXXXVIII =
DCCXXXIII = DIC =
DXXIX = DCCLXXV =
DCLXXXI = DVII =

DCLXX = 670 = 115

— 833 = 258

= 499 = 125

= 740 = 408

= 933 = 753
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Chiffres Romains (J) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

DCLXXXVIII

CCVC

DCCXXXIII

DXXIX

DCLXXXI

DCLXX

DCCCXXXIII

ID

DCCXL

CMXXXIII

295

733

529

681

670

833

499

740

933

688

CCCXXXI

CCCLXXXVIII

DIC

DCCLXXV

DVII

CXV

CCLVIII

CXXV

CDVIII

DCCLIII

331

388

599

775

507

115

258

125

408

753
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